After recording return to:

Gary N. Ackerman Foster Pepper & Shefelman 1111 Third Avenue, Suite 3400 Seattle, Washington 98101-3299

92 JAN 16 MID:05

SECORDED____FILED.___. REGUEST OF_____

AMENDMENT NO. 1 TO

CONDOMINIUM DECLARATION

9201160014

FOR SKYLINE NO. 24 a Condominium

THIS AMENDMENT NO. 1 to the Condominium Declaration for Skyline No. 24, a condominium according to Condominium Declaration recorded under Skagit County Auditor's No. 9111070006 (the "Declaration"), is made with the consent of Skyline Marina, Inc., the Declarant under the Declaration and owner of all of the Units in Skyline No. 24.

- Schedule B to the Declaration is amended to read in its entirety as attached hereto.
- 2. Except as amended hereby, the Declaration shall continue in full force and effect.

SKYLINE MARINA, INC.

By Hause Wassleushi
George Wasilewski

Its President

SKYLINE NO. 24 **OWNERS** ASSOCIATION

By George Wasilewski, President

01/13/92 GNA-853

9201160014

BK 104 | FG 000 |

SCHEDULE N

SKYLINE NO. 24

Estimated Annual Common Expense Liability

	Common	
	Expense 🔷	
Unit No.	<u>Liability</u>	Assessment
_		Z.,
1	4.878 🎺 🥢	\$ 309.22
2	4.878	9 /2 309.22
3	4.878	
4	4.878	309.22
5	4.878	309.22
6	4.878	309.22
7	4.878	309.22
8	4.878	309.22
9	4.878	309.22
10	4.878	309.22
11	4.878	309.22
12	4.878	309.22
13	4.878	309.22
14	4.878	309.22
15	4.878	309.22
16	4.878	309.22
		The state of the s
17	4.878	309.22
18	6.175	391.40
19	10.899	690.86
	100.000%	\$6,339.00

11/15/91 GNA-733

BK 104 | PG 0002

STATE OF WASHINGTON COUNTY OF SKAGIT I certify that I know or have satisfactory evidence that GEORGE WASILEWSKI signed this instrument, on oath stated that he was authorized to execute the instrument and acknowledged it as the President of SKYLINE MARINA, INC. to be the free and

voluntary act of such party for the uses and purposes mentioned in the instrument. Dated January 15, 1992
Signature of
Notary Public
My appointment expires 8/15/95 (Seal or stamp)

STATE OF WASHINGTON COUNTY OF SKAGIT

I certify that I know or have satisfactory evidence that GEORGE WASILEWSKI and RICHARD SANDS signed this instrument, on oath stated that they were authorized to execute the instrument and acknowledged it as the President and Secretary of SKYLINE NO. 24 OWNERS ASSOCIATION to be the free and voluntary act of such party for the uses and purposes mentioned in the instrument.

Dated Signature of Notary Public _

January 15 5, 1992

(Seal or stamp)

My appointment expires

GNA-853

9201160014

BK 1041PG0003

SCHEDULE B

SKYLINE NO. 24

Unit Data and Allocations

			Common Expense Liability and				
		Declared	Declared	Interest	Approx.		
	Length	Value	Value	in Common	Area		
<u>Unit</u>	<u>(ft.)</u>	(per ft.)	(per Unit)	Elements	(Sq. Ft.)		
1	15	\$ 2,100	\$31,500	4.878%	450		
2	15	2,100	31,500	4.878	450		
3	15	2,100	31,500	4.878	456		
4	15	2,100	31,500	4.878	462		
5	15	2,100	31,500	4.878	468		
6	15	2,100	31,500	4.878	474		
7	15	2,100	31,500	4.878	480		
8	15	2,100	31,500	4.878	486		
9	15	2,100	31,500	4.878	492		
10	15	2,100	31,500	4.878	495		
11	15	2,100	31,500	4.878	503		
12	15	2,100	31,500	4.878	510		
13	15	2,100	31,500	4.878	516		
14	15	2,100	31,500	4.878	522		
15	15	2,100	31,500	4.878	528		
16	15	2,100	31,500	4.878	536		
. 17	15	2,100	31,500	4.878	540		
18	19	2,100	39,900	6.175	694		
19	44	1,600	70,400	10.899	880		
			ř	100.000%			

01/13/92 GNA-853